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uksV& lHkh iz'u gy dhft,A

Attempt all questions.

bdkbZ-I/Unit-I

1. iz'ukoyh fdls dgrs gSa\ bl Js"B iz'ukoyh ds vko';d xq.k D;k gSa\ lax.kdksa dk pquko djrs
le; fdu&fdu ckrksaa dk /;ku j[kuk pkfg;s\  8/10

What is questionnaire ? What are the essentials of a good questionnaire ? What
points should be taken into consideration while selecting the enumerator ?

bdkbZ-II/Unit-II

2. fuEu lkj.kh esa Hkwf;"Bd (cgqyd) Kkr dhft;sμ 8/10

Calculate Mode in the following series—

bdkbZ-III/Unit-III

3. ik°p ik°ls 96 ckj ,d lkFk mNkys tkrs gSaA 4, 5, 6 dks lQyrk ekurs gq;s f}in ckjEckjrk forj.k
Kkr dhft;sA  8/10

Five dice were thrown together 96 times. Fit a binomial distribution when 4, 5,
6, are supposed to the success.

in 0–5 05–10 10–15 15–20 20–25 25–30 30–35

vko`fŸk 1 2 10 4 10 9 2

Items 0–5 05–10 10–15 15–20 20–25 25–30 30–35

Frequency 1 2 10 4 10 9 2

P.T.O.
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bdkbZ-IV/Unit-IV

4. 10 lSfudkssaa us yxkrkj nks lIrkg rd (lIrkg esa dsoy ,d ckj) fu'kkusckth dhA igys lIrkg
mudk Ldksj Fkk % 8/10

67  24  57  55  63  54  56  68  33  43

nwljs lIrkg (iwoZ ÿe esa) mudk Ldksj fuEu izdkj Fkk %

70  38  58  58  56  67  68  75  42  38

D;k muds Ldksj esas lkFkZd o`fº gqbZ gS\

Ten soldiers visited the rifle range for two successive weeks once every week. In
the first week their scores were :

67  24  57  55  63  54  56  68  33  43.

In the second week they scored, in the same order :

70  38  58  58  56  67  68  75  42  38

Is there any significant improvement in their scores ?

bdkbZ-V/Unit-V

5. izrhixeu js[kk,° nks D;kssa gksrh gaS\ fdu ifjfLFkfr;kssaa esa dsoy ,d izrhixeu js[kk gks ldrh gS\

 8/10

Why are there two regression lines ? Under what conditions can there be only
one line ?

Y – 542


